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Chapter 14
Chapter Assessment
ANSWER KEY  


Chapter 11 
Chapter Test A

Multiple Choice

1.
C
2.
C
3.
D
4.
A
5.
D
6.
C
7.
A
8.
B
9.
B
10.
D
Modified True/False

11.
T
12.
F, ecosystem-based management
13.
F, sometimes
14.
F, private timber companies
15.
F, Prescribed burn
Completion

16.
sustainable
17.
habitats
18.
timber
19.
biodiversity (animal diversity, animal abundance)
20.
clear-cutting
Short Answer

21
Ecosystems are complex and managers do not understand completely how they work.
22.
Most temperate forests have been cut down by humans.
23.
If burns are done frequently, there will be less buildup of sticks, leaf litter, and tree limbs and the fire will be smaller and easier to control.
24.
It took time for jack pine seeds to germinate after a burn and grow into trees of the right age for the warblers’ habitats.
25.
The wood from which the paper was made was harvested using sustainable practices

Other

26.
selection system
27.
selection system
28.
Selection systems are likely to be most costly because each tree must be selected and cut separately, which involves moving machinery, trucks, and workers.
29.
Clear-cutting; more trees can be cut down in a given amount of time, at less cost to the timber company.
30.
The company can use a seed-tree method of harvesting that will control the kind of seeds that will produce new trees in the area.
Essay 

31.
Topsoil contains nutrients that plants need for healthy growth. If this source of nutrients disappears, some plant species that people rely on may be lost. The balance of organisms in the ecosystem may be upset if one species disappears.
32.
The deer population would begin to decrease. Older deer that died of old age would not be replaced by young deer. Also, as the population aged, fewer offspring would be produced. The resource management is not successful.
33.
Deforestation in developing nations is similar to what happened in the United States several hundred years ago. In the United States, people cut down trees at first to provide farmland. Later, they cut down trees to fuel the Industrial Revolution. In developing nations today, however, there is very little industry, so most deforestation is done to provide farmland. Also, deforestation is occurring more rapidly now and is causing land degradation that could have long–term consequences. 

34.
Student answers will probably relate to changes different federal administrations make to the NFMA. For example, the Bush administration made changes that increased the amount of logging. The Obama administration reversed the changes. The court system must settle the many challenges to the NFMA.
35.
If a plant disease, such as Dutch elm disease, is introduced to the monoculture plantation, all the trees could be wiped out quickly. In a plantation with a variety of tree species, most tree species would not be infected and they will survive. Also, it is harder for a disease to spread if the susceptible trees are farther apart. In a monoculture, trees of the same species will be close together.
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